
 
 
 
 
3/3/2020 

INSTALLATION INSTRUCTIONS 
PART NO. 41-405 DRIVER BACKREST 

FITMENT: CAN AM RYKER 2019-NEWER 
TOOLS NEEDED: T30 TORX 10MM WRENCH 4MM ALLEN WRENCH REMOVABLE THREAD LOCK 5MM ALLEN WRENCH 
PLEASE READ THROUGH AND UNDERSTAND THESE INSTRUCTIONS BEFORE BEGINNING.    *USE REMOVABLE THREAD LOCK ON ALL FASTENERS* 
ESTIMATED INSTALLATION TIME:  15 TO 30 MIN. 
 
INSTALLATION: 

1. USE A T30 TORX TO REMOVE THE TWO SEAT SCREWS SHOWN IN FIG. 1 LOCATED UNDER THE SEAT (THESE SCREWS WILL NOT BE REUSED). 
2. REMOVE THE BACKREST MOUNT BASE FROM THE PACKAGE.  
3. PLACE THE BACKREST MOUNT BASE UNDER THE SEAT AND INSTALL TWO M6 X 25MM SOCKET HEAD SCREWS IN THE HOLES THAT YOU REMOVED 

THE SCREWS IN STEP 1 (FIG. 2). FINGER TIGHTEN ONLY, DO NOT TIGHTEN COMPLETELY. 
4. INSTALL TWO M6 X 20MM BUTTON HEAD SCREWS WITH A FLAT WASHER AND NYLOCK NUT ACCORDING TO FIG. 2. TIGHTEN THESE COMPLETELY. 
5. FINISH TIGHTENING THE TWO SCREWS FROM STEP 3.  
6. REMOVE THE REST OF THE PARTS FROM THE PACKING. 
7. ASSEMBLE THE BACKREST RISER ACCORDING TO FIG. 3. 
8. ASSEMBLE THE BACKREST AND INSTALL ONTO THE BACKREST RISER ASSEMBLY (FIG. 4). 
9. INSTALL THE M6 X 20MM SCREW AND JAM NUT IN THE MOUNT BASE ACCORDING TO FIG. 5. (BE SURE TO LEAVE ENOUGH OF A GAP SO THE RISER 

WILL SLIDE ONTO THE M6 BOLT.) 
10. INSTALL THE BACKREST ASSEMBLY ONTO THE MOUNT BASE AS SHOWN IN FIG. 6 AND SECURE IT WITH THE THUMB SCREW (BACKREST RISER WILL 

PASS THROUGH SLOT IN MAX MOUNT). 
 

   

  

Copyright© 2018 by Big Bike Parts, Inc. No part of this 
instruction sheet may be reproduced without the written 
permission of Big Bike Parts, Inc. 



  
 

 


